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Alignment of packet control acknowledgement requirements  for DTM
1. Discussion

Specification 44.060 and 43.055 do not agree on how packet control acknowledgements are handled.  Consider the following scenario:

If PDTCH/F is used and if the MS has to respond with a PACKET ACKNOWLEDGEMENT message to a valid RRBP field, shall the MS send the message using NB (regardless of the CONTROL_ACK_TYPE parameter) or shall it send the message using either NB or AB depending on CONTROL_ACK_TYPE parameter?

Now, consider the two possible answers:

1) Specification 44.060 clause 10.4.5.1 “Special requirements in dual transfer mode”

“If the mobile station in dual transfer mode is using PDCH/H, where the exclusive allocation is required, special requirements apply when the mobile station receives a valid RRBP field in a downlink RLC/MAC block:

· (…)

· When the mobile station responds with a PACKET CONTROL ACKNOWLEDGEMENT message to a valid RRBP field, the mobile station shall use the RLC/MAC control block format. That is regardless of the CONTROL_ACK_TYPE parameter received in the broadcast information of the cell or the TYPE_OF_ACK parameter received in a PACKET POLLING REQUEST message.

If the mobile station in dual transfer mode is not using PDCH/H, the normal requirements apply when the mobile station receives a valid RRBP field in a downlink RLC/MAC block.”
2) Specification 43.055 clause 7 “DTM operation” says: 

“A mobile station in dual transfer mode shall use normal acknowledgements and not access bursts, irrespective of the value if the CONTROL_ACK_TYPE field in the (P)BCCH. Access bursts are not needed since the mobile station is already in dedicated mode.

2. Summary

This appears to be a case of non-alignment between Stage 2 (03.55) and Stage 3 (44.060) specifications.  Do other manufacturers see this as an issue that requires alignment between Stage 2 and Stage 3 specifications?
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